| MATERIAL: .060" THICK, 302 OR 304 STAINLESS STEEL.
2. FINISH: PASSIVATED PER SAE-AMS-2700. —

.69

(

.25 — 040 — (.060)

250 X 438 SLOT , TYP. FULL R. TYP.

15 .63

6295

300 2.625

.63

- —J I _ __J1__ I __ L __1—___CL__—_—_1_7]

— . 180, 2X

O7TE£.015 TYP. — .19

Irvine Technology Center
410 Exchange, Suite 200
Irvine, CA 92602

® s (gt
- . Fax: (714) 368-
BK 70 CONTENTS' Website: www.jonathagertl)gr.combI L
Engineer - Production - Integration/ Subassembly - Logistics
PART NUMBER DESCRIPTION aty Engineered Solutions e United States - Maxico - China - Taiwan -
SPO-1303 RECESSED BRACKET 4 TOLERANCES PART NUMBER : DESCRIPTION :
UNLESS
SCREW - FHMS #8-32 X .500, SS 8 OTHERWISE BK-70 RECESSED BRACKET KIT
NOTE,
NUT - HEX #8-32, S8 8 XX | XXX |ANGLES| HOLES | DATE: FOR 260 SERIES
WASHER - FLAT #8, SS 8 +.03 | +£.010| +1 | +.005 02/10/12
WASHER - LOCK #8, SS 8 SHEET 1OF 1 COPYRIGHT © 2009 JONATHAN ENGINEERED SOLUTIONS

1 2 3 4 5




